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» (x+a)(x+b)=x"+(a+b)x+ab,
» (a+b)’=(a+b)(a+b)=d" +2ab+b
» (a—b)Y’=(a—b)(a—b)=a*—2ab+ b,

» '~ b =(a-Db)(a+Dh).
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(i) 2ab,3bc, ca Gi) 71" 3m’, -8 Gii) p*, —¢% -r®

(iv) 5Sxyz, 2yz, —8xy (v) —2ab, a,—bc, c (vi)  9lm, 8mn, —10ml, -2
P B s2

(i) x+3 (i) 3a+b-2 (i) +m?+n’

(iv) Sa v) 2*—1 (vi) 30— dn>
_“é&t’;’d/uz///)lu)/qu}/ug -3

(i) x+y-z (i) -6l (i) 24*-3

(iv) abc (V) X+ 2xy + y2 (vi) (—a)3

(vil) [—m (vii) 7a* — b* (ix) Im+mn+nl

(x) 2a-3b-4c (xi) 11x%y? (xii) @ +a’b + ab*
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1) 24 + Xy + 2%y =5, 2%y — XY + Xy + 1, 2 - xY + Xy — Ty

(i) X% + ¥ + 2xy, ¥* + 27 + 2yz, 2x2 43y + 2%, 22 — 2xy — 2yz
(1) 2x4y2 + x3y + xzy -5, 2x2y - x4y2 + x3y +1,2- x4y2 + x3y - 7x2y

B S NSO SN AP 7T
2x'y+ Xy+ xX*y-=5
2 — iy — xy? = (2=1-1)xy? = Oxhy?
4 2 3 2 ® Xy Yy y y y
- Xyt X y+2x y+1 o X’y +xy+xy=(1+1+1)x’y = 3x°y
- x4y2+ x3y—7x2y+2 ° xzy +2x2y—7x2y=(l+2—7)x2y=—4x2y
e S5+1+2=-2

_‘L@/f{#‘ 3x°y —4x’y -2 %

(i) x> + y2 + 2xy, y2 +7+ 2yz, 2)62+3y2 +72, 27— 2xy — 2yz

_uf‘ﬁuﬁﬂ Kgﬁ.,ﬁ/u;@&q.@,u;?;}d,y’/uﬁ/??ﬁ

Ox*y* +3x°y—4x*y=2

P+ oy +2xy o X’ +2x° = (142)x" = 3%’
2 2 2
+ Yy + 2z +2yz o Y’ +y +3y’ = (14143)y* = 5
2)62 + 3y2 + 22 2,2, 2 2 2
e+ +7 =(+1+1z" =32

+ - 2xy —2yz

o 2xy—2xy=02-2)xy=0
® 2yz—2yz=(2-2)yz=0

_‘LC&/?;;W‘EWZ +57 + 3Zzuf~

3x% + 5y* + 327+ Oxy +0yz
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e bn 20y + 2y =B — 1 U S B + 20— XY+ Ay 2
e A S
G = 2 ey 31
L?//?/d 4y = =XV +4x%y + 2x + 3
e F IS S e A L)

32, 32 _ 32_ 432
2x3y2+x2y —3x—1 e 2y +xy =2+ Dx’y =3x"y

2 2.0 2, 2.
$x3y2i4x2yi2xi3 * ¥y—dry=(1-4xy=-3xy
o 3x—2x=(-3-2)x=-5x
3x’y? —3x%y —5x -4
Y Y e —-1-3=—4

-‘L&}J/:{;w/‘ 3y’ - 3x°y - 5x—4 _+

?ngnfbl +xy =ty + x6y4uf7fq"/&ﬁguﬁ 3xty + 11 + 4x%* — 6x%y ;3Jl’},

(i)
(iii)
(iv)

(v)

4)66y4 + 3xy? —6x?y + 11
+ x6y4 + x4y2 + xzy + 1

-uf‘iuﬁdﬂgfifuﬂ/éf :f
G = a0 43 -6y + 11
S = Ay =yl
G E SIS IS e S B A

o 4xyt— 2% = (4-1) 2% = 3x%*

o 3xhy2 — ¥ = (3-1) xH? = 24>

o —6x7y + X7y = (=6+1) ¥’y = —5x%y

3x%y* + 2xYy = 5x%y + 10 e 11-1=10

-%(}//S’C}w 3%yt + 2xY — 547y + 10 hﬁ'

8.2.7"
E A e

X+ 2xy +yh, X = 2xy +y°

X+ 3x%y — 20" + 7, 2x° — 5x%y — 3xy* — 2y°

@ +a’b—2ab’ + b, 4@’ + 3a’b + 2ab’ + 5b°

2xty — 4x’y? + 327 — Tyt Xty — 4Pyt — 3x%y + 8xy?

ab’ +12a°b* - 6a°b’ + 10a*6* — &’b, 4ab’ - 8a%* + 6a°b* — 6a*b” + 4a’D
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(iv)

_“ér}"‘;sz—i—y—ZZ/}'B=—2x+y+Z‘A:)C—2y+Z/'/' -2

A-B (i) B-C (i) C-A
A-B-C vy A+B-C (vij A-B+C

?é_lgnflax7+x5 +xr—1 uf?fg_j:/(‘fguﬁ =+ -+ -+ x+1l 3
?ngnJ'{g 5xty? + 2%y + X%y -9 uj‘zfu"/(f t[u.’: -y -3y -4 4
?ngnd'i b 3y +7x"y’ =1 1xy+19 S s A o /3' lf;uﬁ 50y -3xy’ +10xy-9 -5
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(@)

(111)

_Lamﬁwf_uﬂb“»fd;ﬂ@

v
5@ sl A (i) 3y sl 5x (i)  30m’n 2 70m*n®
4a*> 2 S5a® (11) S5x* s 37 J
4a*> x 5a° = (4 x 5)(d* x @) 56 x 3y* = (5 x3) (x* xy?)
= Q20) (@) jpg_p =(15) 0y
e = 15x"y

=204’ a"xd" =a
30mPn 51 7P mBn®
3 x 10m’n’ = G x Ty X D)y (m” xm’) (n x n°)

e Gl Sk
S e

(1) 3x*x* =y (i) —6a® Qa+3b) (i) 2Pm*n* 2Im — 2mn + 5nl)

(1) 32 (*—y%) (i) —6a* (2a + 3b) F
= (3x* x x%) = (3x° X y?) = (—6a*> X 2a) + (~6a” x 3b)
=3("") = 3(x* x %) = (=6 x2) (@ X a) +(=6 x 3)(d* x b)
=3x" = 3x%’ = (—12)(@™) + (=18) (a®b)
=124’ - 184°b
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(i) 2Pm*n® 3lm — 2mn + 5nl)

= QPm’n* x 3Im) — 2Pm*n* X 2mn) + QPm*n* x 5nl)

= (2 X 3) (Pm’n® x Im) — (2x2) (Pm*n® x mn) + (2 x 5) (IP'm*n* X nl)
— (6) (12+1m2+1n2) _ (4) (lzm2+1n2+l) + (10) (12+1m2n2+1)

= (6) (Pm’n®) — (4) (Pm’n®) + (10) (Pm*n)

= 6PPm’n® — 4Pm*n® + 10Pm*n’

8.3 .7

Ny
Q) Tm -8 (i) 2absl3a’b* (i) 4xy ss12x%y
(iv) —4ab 31 -2bc (V) 3Im® »13mn (Vi) —6x7y ssl3xyZ
(vii) 2a°b 11 5a°b° (viil) Pmn ! Im*n® (ix) —4)62yz7 il 8xy4z3
Q) Im (I +m) () 4p (p+q) (iii) 3a(a-b)
(iv) 2x 3x + 4y) (V) 2a(b-2¢) (vi) 2Im('m"-n)

(vi)a (a+b—-rc)

G @x+3)(x-1)
(iii) (m + 2)(m* —2m + 3)

1 x+3)(x-1)

x +3
X x -1
%+ 3x
-x-3
o +2x-3

x+3)(x-D=x"+2x-3 =

(iii) (m + 2) (m* = 2m + 3)
m’— 2m+3
m+2

m’=2m*+3m

(viil) 3x (x — 2y — 27) (ix)

3p*q (p° + q* —r")

-é)b'l/b O3Jt}"

(i) (2a + 3b) (2a - 3b)
(iv) 2x—1D(x* = 5x + 6)

(i1) (2a + 3b) (2a — 3b)
2a+3b
X 2a-3b
4a* +6ab
—6ab—9b”
4a’ —-9b’

+2m*—4m +6

3

m - m+6

(m+2)(m2—2m+3)=m3—m+6 U’J'
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s 2a X 3b =6ab

(2a +3b) (2a - 3b) = 4a’ — 9> =



& 4l
(1) 2x° ()c3 —x)—3x ()c4 —2x)+2 (x4 - 3x2)
(i) (5a*=6a+9)(2a—-3)—(2a*-5a+4) (5a+1)

(1) 2)cz(x3 —x)—3x (x4 —2x) + 2(x4 - 3x2)
= (2% =2 xx) — Bxxxt = 3xx 2x) + (2x* — 6x7)
_ (2x2+3 _ 2x2+1) _ (3x1+4 _ 6x1+1) + (2x4 _ 6x2)
= (2X -2x) - (3x° — 6x%) + (2x" — 6x7)
= 2% = 2% =3x8 + 6x7 + 2x* — 617
= (20 = 3x) + 2x" = 27 + (627 — 6x7)

= -+ 2 =2

(i) 5a*=6a+9) 2a—3)— 2a*-5a+4) 5a+ 1)

5a°— 6a + 9 2a°— S5a + 4
X2a — 3 X 5a + 1
10a® —12a° +18a 10a® =25a* +20a
—15a*> +18a — 27 +2a> —5a +4
10a® —27a*+36a — 27 10a’-23a> +15a+4

(5a*—6a+9) (2a—-3)—(a*—5a+4) (5a + 1)
= (10a’ = 27a* + 36a — 27) — (104’ — 23a* + 15a + 4)
= 10a’ —27a* + 36a — 27 — 104’ + 23a*> — 15a — 4
= (10a’ = 10a’) + (<27a* + 23a”) + (36a — 15a) + (<27 — 4)

= —4a*+2la-31
8.4 7
-éi:;b//‘ -1
G Ba+4)(2a-1) Gi)  (m+2)(m-2)
(i) -1 +x+1) vy @-@ @ +pg+q)
V) (+y) @ -xy+)y) (vi)  (a+Db)(a-b)
(vii)  (I—m) (> =2lm +m’) (viii)  (3p —4q) Bp + 4q)
(x)  (1=2¢) (1 +20c) x)  (2x—=1)@x*+2x+1)
(xi) (a+b)(a*—ab+ b (xii) (B =b)(2b—-b*+3)
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S
() P +y) GBx+2y) +xy (x—3y)
(i)  (@Gx+3y)(2x—y)—Bx—2y) (x+y)
(i)  Qm*=5m+4) (m+2)—m*+Tm—8) 2m—73)

(iv) G +2xy-20) (x+y) - (P —xy+y) (x— )
= K54 8.3 \

KL/J@%}qu;W/fQV.&uﬁ‘;u%c‘_éndﬁq}/i?fzrid}i{(d}'ug
E I b L3 P st LS 3 s 6 e g L S (h 96
J/Kd/i;ju.l:p = 2 ({+b)xh U

S SE e AL A

(x+a)(x+b):x2+(a+b)x+ab :1,:,K

&

________________________________ . HCS
LHS. = (x+a)(x+b) T - 7
= x(x+b)+alx+Db) x - a)w:c
= X +bx+ax+ab i
= X+ ((b+a)x+ab i i
) b bx ab|’p
= x"+(a+b)x+ab=RH.S. e X T

LHS. = RHS. s

LHS. = (a+b)’ = (a+b)(a+b) — PR e rs?
= ala+b)+b(a+Db)
= a +ab+ba+ b a 2 abi

= d*+ab+ab+b* |
= & +2ab+bh=RHS. H L

LHS. = RHS. (& b b
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(@a-bP?=a*—2ab+b 3.5

st
LHS. = (a—b)* = (a—b) (a—b) o ab b,

= a(a—-b)—b(a->b)
= d—ab—ba+b A e [l

al | = |
= a*—ab—ab+ b’ S =
= a’—2ab+b =RHS. ATl
LHS. = RHS. (& e

(a-b)(a+b)=d’—b* 4%

O
LHS. = (a—b)(a+b) PRV
= a(a+b)—b(a+Db)
= d+ab—ba-b
= a’+ab—ab-b :;° aa- [
= @ -b'=RHS.
LHS. = RHS. = [ an _|p
-:L:{/Z?/u{f‘zucud/é Ildlf'"
1) x+6)(x+5) (i) (x—4)x—-29) (i) 2x+9) 2x-3) J"

i) (x+6)(x+5) (i) = 4) (5 §)

(+@) (x+b)=x’+@+b)x+ab | (x4 gy (x4 b)= 2+ (a+b)x+ab

(X +6) (x+5) =" +(6+5) X+ (6X5) | (r_ 4) (x—8) = * + (=4 — 8) x + (—4) X (8)
=x>+ 11x+ 30 =x2—12x+32

(i) (2x +9) (2x = 3)

(x+a) (x+b):x2+(a+b)x+ab
(2x+9)(2x —3) = (2x)* + (9 = 3)2x + 9 x (-3)
= 4x% + (6)2x + (=27)
=4x* + 12x—27
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(1) 4a+3b (ii) 2x — 3y J’
(i) 4a+3b &5 (i) 2x — 3y ¥
Py 7 p=ediiy -~
(a+b)Y’=d"+2ab + b* (a—b)Y*=d*-2ab +b*

(4a + 3b)* = (4a)* + 2 X (4a) x (3b) + (3b)* | (2x — 3y)* = (2x)> — 2 x (2x) X (3y) + (3y)°

= 164> + 24ab + 9b* = 4x* — 12xy + 9*
(1) (3X 4y) (3X + 4)7) &UV/JI(?KUY"/})J}Z//)LL&Jé 3JV
(i) (7a—=9b), (Ta +9b) (iil) (6x°y* + 8a’b?), (6x°y* — 8a’b?) :f
O Ge=dy), Gx+dy)  _CF | () (Ta—9b),(Ta+ ) sl K

(a+b)(a—b) =a*-b* (a+b)(a—b) =d*—b°
(3x + 4y) 3x — 4y) = (3x)* — (4y)* (7a + 9b) (Ta — 9b) = (Ta)* — (9b)*
= Ox? — 16y = 494° — 81b*

(iii)(6x7y* + 8a’b?), (6x7y" — 8a’h?) el

(a+b)(a-b) =a*-b*
(6xzy2 + 8a2b2) (6x2y2 — 8a2b2) = (6)c2))2)2 - (8612192)2
= 36x*y* — 64a’p*

8.5
-“é/:?fu Z,;Za“_;?i“c,u d/.é -1
@) x+D(x+2) (ii) x=2)(x—-4)
(i) (@a+5)(a+3) iv) (Bb+6)(b-9)
(v) 2x+3)2x=17) vi) Qy+1)Q2y+5)
(viil) (Bb-1)3Bb-17) (viii)) (4x+5) (4x+3)
ix) (By-2)(5y+6) (x) 8a+7)(8a—-3)
_“é(}‘”c;u, Jéd/ Kuﬁ,;zfa,;g‘; -2
) X+y (ii) 3a+4 (i) x-—y
iv) a+2b (v) 2x + 3y (viy 2a-b
(vii)  3x-—2y (viii) 4x + 5y (ix) 7a-8b
_“é"}b/‘u/‘.}il? KU z”z»éé)éau d/é -3
(1 (x+y)(x—y) (i)  (Ba-28)(Ba+3)
(iii))  (2a+7b) (2a—"71b) iv)  (x+3y) (x—3y)
v) (6a — 5b) (6a + 5b) (vi)  (9x—11y) Ox+ 11y)
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(i) 3x3x2x1=18
Jﬁa&dﬁ'u)&)c"_;)gud;"ﬂ*/"wb Ku}‘?d/élu&)cup))?.d}'é/ﬁdﬁ%'@/’gﬂ
.2 Py
(1) 3xy—3xz=3x(y—2)
&dﬁévugufv_ug;uj ;ﬁ‘u:&d‘( X131t (v —2) 0 x 336 3xy — 3xz Ut (i) Ul
—pES A ASSAS

eb/ S A g S Sl S AP L Ut iz g A1

-
¢

Loz S be Qe AUt e Al B A
ﬁiwﬁﬂ&ﬁﬁ%g;ddﬂ
f

(e QAR TR A0 123)

(1) 3a+ 6b+9c (i1) ax—=y)—bx-y)

1) 3a + 6b + 9c

=3(a+2b+30c)
i) a(x-y)-bx-y

(-2 (2 =)

=(x-y)(@-b)
_édf,;:zdt"
i) (ax—y) —(ay—x) (i) C+y)-(G+2)x
S
i) (ax—y)—(ay—x) (i) C+y)-O+2)x
=ax—-y—ay+x =x2+yz—yx—2,x
=ax+x-—ay-y =x"—zx—yx +yz
=x(a+1)—y(a+1) =x(x-2)-y(x—2)
=(x-y)(@+1) =(x-y) (x—2)
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I @b J / Ku,j/db d /u{/)bidlf«‘

a*—b*=d*+ab—ab-b*
=a(a+b)—b(a+Db)

=(a-b)(a+Db) .
_SESE 3Je
(i) 49x* - 81y* (i) 18ax* —32b%° (iii) (6a — 8b)* —49¢*
:f
(i) 49x% — 81y’ (i) 18a’* — 32b%y*
= (7x)" — (%) = 29" ~ 165'y']
— (Tx— 9% (Tx 4.9 =2[(3ax)” - (4by)’]
= (7x=9y) (7x+9) = 2(3ax — 4by) Gax + 4by)
a—=b*=(a-b)(a+b) v —b'=(a—-b)(a+Db)

(iii) (6a — 8b)* — 49¢*

= (6a — 8b)* — (Tc)?
= (6a — 8b —T¢) (6a — 8b + 7¢)

v a?=b'=(@-b)(a+b)

8.6
AT YA

i) 5x%y—10xy° (i)  2a—4b+6¢c
(i) ' +6y°+3 iv)  da’b+d’b* +ab’
v) x2yz + xy2z + xyz2 (vi) b +bx* —x—1
(vi)  x*+ gx + px + pq (vili)) ab—a—-b+1

ix m+n)+ (pn+m X a +bc)y—(b+c)a
(ix) ) ) x) (@ +bo)—(b+o)
(xi) X’ - (m+n)x+mn (xi1) X - y2 +x— )62y2
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_édfcud/"é 2

() 4d*-25 ()  4x*— 9y’ (i)  9a*—b*
(iv) 9m* - 16n* v) 16b*—d* (vi) =1+ (x+1)
(vii) 8x* — 18y* (vii) (a+b)*—¢* (ix) xX*—(@+2)7°
(x) Tx*=Ty (xi)  5a* —20b* (xii) x*—y*

dfjd/u}‘féyaz + 2ab + b’
J@/Z:f:d/»@” %)Ku/wlpé:(;’;u!»&:ﬁ/gd/éé&/d/i@»fuj“gbﬁ

e (Fousd
(a+b) =a" +2ab + b (a—b)*=d*—2ab + b*
ek f iz e
(i) 8x*—56x+98 (i) 16a* + 24a’b* + 9b*
(i) 8x% — 56x + 98 S
= 2[4x> — 28x + 49]
=2[(2x)* = 2(2x)(7) + (7)*] " 28x =2 (2%) (7)
=202x-"7)°

© a*=2ab + b*=(a—b)

~rQx-T) o 24 ez n

()  16a* + 24a*b* + 9b*
= (4a*)* + 2(4a®) (3b%) + (3b*)* - 2(4a%) (3b%) = 244%b*
= (4a” + 3b%)*

wa*+2ab +b*=(a+b)*

~Uf (42 + 3677 A
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I’ 2
—a - 2ab+ n

2 2

m n n

~ (o) el
) el

() 2+ 8x+16

(i) a'—14a* + 49

(V) 4 —12xy+9y°

(vii)  16a* + 56ab + 49b*
(ix)  49m* + 154m + 121
(xi)  3x*+24x* + 48

(xii) 44a” — 44a°b + 11a%b*
(xv) 1 —4xyz + 4xy*2?

(1) a’x* + 2abex + b*c?

. 4 9 ,
i) —x"—xy+ —
(iii) 5 Y+ 167
) a’x’ _ Z2axy N b’y’
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